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A s
HE: YA AW BN (SPHYLA/SY - 5E)
ol SYEAI|Y 2R EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| | 991,668
sk2clAds 24 12,000 0 12,000
201 et 3| 12,000 0 12,000
01 At22t2l] 12,000 0 12,000
Oosizcl?de 23 12,000
sEEEENIF NFE 2l 3,600 0 3,600
202 04l 3,600 0 3,600
01 2LHoIH 3,600 0 3,600
OsZEH=ENNF NE 22 3,600
22 SHIEXNS SHIAY 4,000 0 4,000
202 04dl 4,000 0 4,000
01 =LHOHI 4,000 0 4,000
Oxm2 SYEAEXNS bl g2 4,000
STIMAIet afe &2 &y 39,397,276 37,377,822 2,019,4%4
= 1,437,860
= 37,959,416
sogels=g X& 33,843,600 33,180,000 663,600
301 2EN= 33,843,600 33,180,000 663,600
02 MBI 2EHSFHS(HAANS, KLHE) 33,843,600 33,180,000 663,600
Oosgelsd X 33,843,600
Hdsgel 54 243,100 248,772 N5,672
202 04l 3,000 3,672 ABT2
01 =LHA LI 3,000 3,672 NB72
Old=sgel 54 =M 3,000
307 gI2to| & 56,000 56,000
02 QB AANEER 20,000 20,000
ozlad 2d¥E S0H0IZE K& 20,000
04 QIZHHAIAIH E X 36,000 36,000 0
Oood=sgele ¢ 36,000
308 XXM SOl 144,100 149,410 25,310
01 XN B2 LS 144,100 149,410 A5,310
ONd=sgeldH 28 K& 32,000
ONd=gol HeEsS Xd 107,100
Oond=sgel 243t XY 5,000
403 AXIEHMSAH=201H 40,000 39,690 310
01 AR A =2 £ 40,000 39,690 310
OSYg sty X 40,000
M=ol =sZ2XE 660,400 660,400 0
308 AXIMSOIA 660,400 660,400
01 XN BSELS 660,400 660,400
ONd=sge =S3HAE 660,400
Hedsgel SAHSX 1,972,000 1,962,000 10,000
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A s
HE: URSY AW BA(SYHYSM/SY - 5E)
el dEsge =4 (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 720,000
308 AHXIEMSOIE 6,357,800 3,297,930 3,059,870
= 5,637,800
= 720,000
01 AXEH B ELES 6,357,800 3,297,930 3,069,870
OoFd=sYel =8 2 6,357,800
= 5,637,800
= 720,000
A0IE =Y Jlgt 25 21,415,400 20,134,100 1,281,300
= 18,276,000
< 3,139,400
2Ee JH AE s®HA &4 506,600 503,600 3,000
202 04t 6,600 3,600 3,000
01 =LHOHI 6,600 3,600 3,000
OFH ALIE =8 2% =4 6,600
307 @12t01 & 500,000 500,000
05 git?(& = 500,000 500,000
OFH ADIE sgHX Al - 29 500,000
NSEE3 AUHE AEE Z&AH(21) 1,580,000 7,900,000 6,320,000
= 1,400,000
s 180,000
403 X EHMSX=01H 1,580,000 7,900,000 26,320,000
= 1,400,000
< 180,000
01 A= 2L 1,580,000 7,900,000 26,320,000
oYU ALEE =4 1,580,000
= 1,400,000
= 180,000
CX ADESY AIEAMS(=1) 9,142,500 7,444,000 1,698,500
= 8,025,000
= 1,117,500
308 XXM SOIA 650,000 650,000 0
= 500,000
== 150,000
01 HRHH B EES 650,000 650,000 0
OLXl ADESY AYAS (MEE 29) 650,000
= 500,000
< 150,000
403 AXIEHMSAH=201H 8,492,500 6,794,000 1,698,500
= 7,525,000
= 967,500
01 AXIEHM A= 2 £ 8,492,500 6,794,000 1,698,500
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A s
I YA AW BN (SPHYLA/SY - 5E)
el ADIE =9 I8 2= (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OXl ANESY ABAL(ANEYS &
AD1EhR =) 8,492,500
= 7,525,000
[ 967,500
HASAN M| HES 612 25(31) 4,923,600 0 4,923,600
= 4,000,000
= 923,600
403 AXIEHHSAH=201H 4,923,600 0 4,923,600
= 4,000,000
S 923,600
01 AXISHHA=2EE 4,923,600 0 4,923,600
OEHESAMN Hd=D| HES 612 25 4,923,600
= 4,000,000
== 923,600
HASATY M) HES 512 PFH(MNE2Y) 300,000 300,000
308 AXIHSOIA 300,000 300,000
01 HASHHBSEEXS 300,000 300,000
OFHSAM )| BES 5I1E 2E(AY
29) 300,000
JgliHole Alaty 4(=21) 4,851,000 4,175,000 676,000
= 4,851,000
403 MR EHHSAHE01H 4,851,000 4,175,000 676,000
= 4,851,000
01 XIS A =2 & 4,851,000 4,175,000 676,000
OJgH0IL B BTHA X4 4,851,000
= 4,851,000
Jeldiole d&01Y |4 103,300 101,500 1,800
201 er23 | 4,000 4,000 0
01 At2teltl 4,000 4,000 0
O8I ?IJs 2 4,000
202 04t 4,800 3,000 1,800
01 =LHOHI 4,800 3,000 1,800
O8I d501g HRFA 4,800
308 AHAIEHMSOIE 94,500 94,500
01 HAHHBSEXS 94,500 94,500
OJ8H0I2 HdEJI1Y 54 94,500
B0 JI8t 2= SHE A= 8,400 0 8,400
308 XXM SOIA 8,400 8,400
01 AXENBE2ES 8,400 8,400
ORF=Y 43 ©ek IY 8,400
Qe sENY Hs(sHllLrb/5Y - &) 39,827,234 41,590,719 1,763,485
= 6,197,750
= 30,210,000
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A s
I YASENY DA (SBHYLM/SY - 5&)
o =8 sE 38 243 (Gt &2l
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
7l 105,294
=S 3,314,190
s - s& 29 2483 402,000 393,100 8,900
HSHE RXl 133,000 93,100 39,900
307 elztol & 68,000 93,100 225,100
02 2IZHBHAIHE & 68,000 93,100 N25,100
OF=sHE RX 2ASEXR 68,000
308 AXIHSOIA 50,000 50,000
13 SIS0t HAS A 50,000 50,000
OH=sHE =Xl 22 XN& 50,000
403 AXIEHHSAH=201H 15,000 15,000
01 AXISHHA2EE 15,000 15,000
O7IE0E ZHIAE 15,000
HsHE RX 83t K& 225,000 250,000 /25,000
308 AtXIEMSOIE 225,000 250,000 /25,000
01 XN BELES 225,000 250,000 225,000
OFIsHE A A& 225,000
SESSHEIAL A X (HEALY) 44,000 50,000 26,000
308 AXIHSOIA 44,000 50,000 26,000
01 HAHHBAEEXS 44,000 50,000 26,000
OsESSHBA 2=At XA (D) 44,000
s2FI|e &E 1,124,534 1,182,179 A\57,645
= 154,750
) 105,294
& 864,490
PN S(=1) 107,334 97,879 9,455
Il 105,294
= 2,040
308 XM SOIE 107,334 97,879 9,455
7 105,294
= 2,040
01 AXEH B2 LS 107,334 97,879 9,455
og22dNFI= 107,334
Il 105,294
s 2,040
sT2FNY Jd Hal 164,000 200,000 /36,000
403 MR HHMSAHE01H 164,000 200,000 /36,000
01 MXIHH A 222 164,000 200,000 A36,000
Os&E23uy Y Lot 164,000
STALNY 245 ML 212,500 47,000 165,500
201 et 3| 4,500 6,000 1,500
01 At22t2l] 4,500 6,000 21,500
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A s
B AASENY HAG(SPHYL/ S - 5E)
Chel: sE22I|e &5 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OsZEMEz20ts Megxz1d U2 N&H 4,500
202 04l 4,000 6,000 /2,000
01 =LHAHI 4,000 6,000 A2,000
Os&2d 245 gy 4,000
307 @120l & 50,000 20,000 30,000
02 QB AANEE R 50,000 20,000 30,000
Os&E2d 82 & NUIASE Hat 50,000
308 XXM SOIA 96,000 96,000
01 AXEH B2 LS 96,000 96,000
Os0ELY SSELE IBIE X 96,000
403 MR SHHMSAH=01H 58,000 15,000 43,000
01 AXISHHA 22 £ 58,000 15,000 43,000
OFFIIE 243t A 29,000
OsEMEd 28 & T8AMY 29,000
SENES 20 AIRE gsHl X 436,800 565,000 128,200
308 AFXIEHMSOIE 436,800 565,000 128,200
01 RSN EES 436,800 565,000 128,200
OsZEMEz20te M2 &34l XIE 436,800
sEMgs20s g 202 X 18,800 19,800 21,000
201 er23| 5,000 6,000 21,000
01 At2teltl 5,000 6,000 21,000
OsZEMaz20te SAH 30t NE 5,000
308 AXItHS0IA 5,400 5,400
01 HRHHBAEEXS 5,400 5,400
OsEMEz20te 88 30= Xd 5,400
403 AXIEHHSAH=201d 8,400 8,400
01 AXIE A= 2 8,400 8,400
OszMazs20ts S5 302 X2 8,400
HEotseld s X2 (IFz2s)(20) 25,500 25,500 0
= 12,750
== 12,750
308 AHXIEMSOIH 25,500 25,500 0
= 12,750
< 12,750
01 MAHHBSEEXS 25,500 25,500 0
OsENEFA0IEs FEHet WF 25,500
= 12,750
= 12,750
sEXNEF20I2 28I X (2D) 75,600 77,000 1,400
= 72,000
= 3,600
307 glztol & 7,200 10,000 22,800

- 586 -




A s
¥ YYUSENL g sEilLdsd/sY - 58)
Hel: sE22D|E =25 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 3,600
=S 3,600
02 2B HAIHE X 7,200 10,000 /2,800
OsEMEzs20s 28=2g NE 7,200
= 3,600
< 3,600
308 AtAIEMSOIE 68,400 67,000 1,400
= 68,400
01 XN BSELES 68,400 67,000 1,400
OsZEMEzs20s 28 NE 68,400
= 68,400
Nocte sE22(=21) 84,000 150,000 66,000
= 70,000
s 14,000
308 AXIMSOIA 84,000 150,000 266,000
= 70,000
< 14,000
01 HXHHBAEES 84,000 150,000 66,000
OoXgHe s&E28 84,000
= 70,000
= 14,000
SEXNS e 38,300,700 40,015,440 A1,714,740
= 6,043,000
[ 30,210,000
= 2,047,700
sSENSNY =23 8,000 8,500 A500
201 fer= 3| 8,000 8,500 A500
01 AtR2te|Hl 8,000 8,500 A500
Os=sEXNGNLME UHE2E 29 8,000
sSESHXZEsH(LBRT)(=1) 18,633,000 17,733,000 900,000
= 18,633,000
403 AXIEHMSA=01d 18,633,000 17,733,000 900,000
[ 18,633,000
01 AXISHHA 22 £ 18,633,000 17,733,000 900,000
OsESHRS-EsHLBRIR) 18,633,000
= 18,633,000
ANzgg2dsi(=1) 1,697,000 1,760,000 263,000
= 1,697,000
308 AFAIEMSOIE 1,697,000 1,760,000 263,000
[ 1,697,000
01 XN BSELS 1,697,000 1,760,000 263,000
OAlzsgdat 1,697,000
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A s
¥ YYUSENL g sElLdsd/sY - 58)
el sEXS e (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| = 1,697,000
sE NE™ ZAMS(SD) 1,789,000 3,601,000 A1,812,000
[ 1,789,000
403 MR HMSAHE01H 1,789,000 3,601,000 A1,812,000
= 1,789,000
01 AR A =2 £ 1,789,000 3,601,000 A1,812,000
Os& Mgy 2L 1,789,000
s 1,789,000
I=dENEs4(20) 8,046,000 10,208,000 A2,162,000
[ 8,046,000
403 MR EMSAH201H 8,046,000 10,208,000 /2,162,000
[ 8,046,000
01 AXISHHA=2EXE 8,046,000 10,208,000 /2,162,000
O =dEHEFY 8,046,000
= 8,046,000
OFSEHSII(SEMNY) 27,500 35,000 AT7,500
403 TR M SAH=01H 27,500 356,000 A7,500
01 AR A =2 £ 27,500 35,000 AT7,500
OnrESSI(BEMNY) 27,500
sES=EMY 845 X (=21) 744,000 685,080 58,920
= 372,000
< 372,000
307 gl2to| & 744,000 685,080 58,920
= 372,000
= 372,000
02 QI HANEEX 744,000 685,080 58,920
OsEsSEay 243 R 744,000
= 372,000
= 372,000
SEFFAEES XA9E-85H(=1) 45,000 540,000 495,000
= 45,000
403 AXIEHMSAH=201d 45,000 540,000 495,000
[ 45,000
01 AXISHHA 22 £ 45,000 540,000 495,000
OsERSAEEE NGEds 45,000
= 45,000
SEIHE A XN&(=1) 350,000 350,000 0
= 175,000
< 175,000
308 AXIMSOIA 350,000 0 350,000
= 175,000
= 175,000
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A s
I YASENY BAM(SPHYLM/SY - 5&)
ol sENS N EER=E)
SA - B BRA(SH) - HRA - of v e HIDE2
18 SIS0t 34 A AS At 350,000 0 350,000
OsES2HE = HA X3 350,000
= 175,000
< 175,000
2 s&EOtE X4 1,465,200 1,334,860 130,340
201 fer=2 3| 16,200 16,700 A500
01 AtR2te|HI 16,200 16,700 A500
OX=2H 28 € 2=0t= AN 9,200
SENLAY HE 7,000
202 04l 9,000 8,160 840
01 2LHoIH 9,000 8,160 840
OZd s&0te g4 9,000
308 AXIHSO0IA 240,000 210,000 30,000
01 HAHHBAEEXS 240,000 210,000 30,000
OsE0ts 28 ZZHE 240,000
403 AXIEHMSAH=201H 1,200,000 1,100,000 100,000
01 AXIEHM A= E £ 1,200,000 1,100,000 100,000
OsZ0is g4 T2HE 1,200,000
83Y sEEsAelX4(20) 5,200,000 1,600,000 3,600,000
= 5,200,000
403 AXIEHHSAH=01d 5,200,000 1,600,000 3,600,000
= 5,200,000
01 AXISHHA 22 £ 5,200,000 1,600,000 3,600,000
OFd sEEskelxd 5,200,000
= 5,200,000
SE FHAANS =HME AHE(21) 296,000 0 296,000
= 296,000
403 AXIEHMSAH=201d 296,000 0 296,000
= 296,000
01 AXISHHA 22 % 296,000 0 296,000
Os& HAAS F=HHE At 296,000
= 296,000
HH2LZH(sZ D) (OIEHIIE 66,519 62,39% 4,123
Jl=2dsl 66,519 62,39%6 4,123
FNE2F Jl=3Hl 66,519 62,39%6 4,123
201 fet= 3| 43,415 40,736 2,679
01 AtR2t2|HI 43,415 40,736 2,679
FN2E AIR2te/ 43,415
202 04| 1,704 10,260 1,444
01 SLHoIH 11,704 10,260 1,444
OFAMEE =0 11,704
203 HP=H] 11,400 11,400 0
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6,600

4,800
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6,600
6,600
4,800
4,800

- EaS

- SRA(3) - HIRAY

S LRE-L

6,600,000&

400,000+ 128
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